2080 0o BOoboood

goooon
2018.11.17



000000 400000000000 12030 40000000D0O000OOO
oooooooooood

00o0o0ooooooDoooooood

kochan@scphys.kyoto-u.ac.jp

1 0o0ooon

gobobobooboobobooooboooboobooboboooboboobobAn
BOUCOUODODODOOOeOOOOODODODO

(1) Ax (BxC)=B(A-C)—C(A-B)
(2) V-(AxB)=B:-(VxA)-A-(VxB)

(3) V-VxA=0

2 JOooooooooobooon

ggbbobud pgddbbbUdeebbooobbbuoooobbod

(1) 0000000 -000000000000000r>a0r<ae0on
ggbooood

(2) 000000D00O0ODOOOO 000000000

3) r<a000000ODDOOOV-EDODDOOODDOO

3 Uouooooad
000000 ¢(r)=k:?00000000000000000000
(1) 00 E(r)00000

(2) 0O (0,0,0)0(a,0,0)0(0,4,0)0(0,0,¢) 0000000000000 a0
000000000000000000000



4 O0000OO0O0O0OO0O0OOOOOOO0

ooooooooooooboob0o0ob+¢0 OO0 OO0 O00OD0ODO
O00—qU0 +¢0O00000000DO0D e0000OO0 p=géednonO
O0000000000ooO0O0|>>00000000000000000

(1) pO00r000000000000 ¢(r)

2) pO0O0r000000 E(r)



